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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each
and Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.

WUE-37 / SECTION-A
T & 1 94 H U&F F 1 F T

Question numbers 1 to 4 carry one mark each

¥~ ADEW, ¥ AB|EW &1 Af€ AD=4cm, DE=12 cm. 981 DW =24cm ¥, 91 BD &1 WH 9l e 1

In ADEW, AB|[EW. If AD=4 cm, DE=12 cm and DW =24 cm, then find the value of DB.

' UEEI A G TF AABCH, AB = 6 cm 3IRBC = 8 cm &1 sin C I FIRT 1
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In AABC, right angled at A, AB = 6 cm and BC = 8 cm. Find sin C.

7

ind . tan0 . (1+cotd
I /3 sinf=cos &, dr S 0 (1<00) o o1 e 1form
sinf + cosb

sinf . tan® . (1+cot6)

sinf + cosH

If /3 sin® =cos0, find the value of

\A/ frAfafad sieq ‘7 2ifus yoer’ =) 9= IRERd| Yed ol ©

Plinica 5 q(10 q|15 q (20 q
Aty =1 | efys @ | stfyes an | sifaes &

ENELS ENEL ENEL ENELN

foenfeflai =1 Hwear | 30 23 8 2
(F=dt SREar)

SR TS Dl Teh Fad T STRARAl s | agiery |

Following distribution gives cumulative frequencies of ‘more than type” :

Marks obtained More More More More
than or|than or|than or|than or
equal to|equal to|equal to|equal to

a 10 15 20
Number of students | 30 23 8 2
(cumulative
frequency)

Change the above data to a continuous grouped frequency distribution

@US- / SECTION-B
U =& 5 910 H IAF & 2 3F B

Question numbers 5 to 10 carry two marks each.
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(/agwﬁ@ﬁm%ﬁg@aﬁﬁzﬁwﬁq%a)waﬁm@ﬁﬁmﬂm%: 2

Find the smallest number divisible by numbers 2 to 9 (both inclusive).

o qUisT fF 1 ot eees fowm quih 6m+1, 6m+3 A 6m+5 % w9 F feran o1 gl £, w4 B5 2

Show that any positive odd integer can be written in the form
6m+1,6m+3 or 6m+5 for some integer m.

\V ¢ a=2TAB=3 TEIR 22—5x+6 & YTF ¢, dl o8 =g mmlm%ﬁwlam
" (04
1
B

If a=2 and B=3 are zeroes of a polynomial x2—5x+6, then find the polynomial whose

1 1
zeroes are — and —.

@ p

@ T Gl AR & 1Y 39 YRR W@ ¢ o 3Hent uig AR § 5 Hiet g W qu sqen v 5 3 e 2
it faeant I Tgar € | Higl & ol 1 i |

A ladder is placed against a wall such that its foot is at a distance of 5 m from the wall and its

top reaches a window 5 /3 m above the ground. Find the length of the ladder.

8 e 2

cosec 13° cot 20°

sec 77° tan 70°

Evaluate :

cosec 13° cot 20°

sec 77° tan 70°

Ll,O/ e forshe @aar €1 Tk 99 | @l T 50 J4i | 39 g foaw o faferdd @t gem A @ g 2
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39 g fau e fafeed = areg g #@ifso

0-2

2-4

4-6

6-8

8-10

T} <kl GeE&A

9

10

32

1

2

Rajan plays cricket. His data regarding number of wickets taken in 50 matches he played in a

year is given below. Calculate the mean of wickets taken by him.

Number of
) 0-2 2-4 4-6 6-8 8-10
wickets
Number of
5 10 32 1 2
matches
@Us-H / SECTION-C

¥ HE&A 11 920 H YAF & 3 3F B
Question numbers 11 to 20 carry three marks each.
AT RIS TR 3 %5 X 13 X 46 + 23 Teh 3196 G&AT © 91 4o H&A1 © | 3

Explain whether the number 3 X5 x 13 X 46 + 23 is a prime number or a composite number.

o’ x Ty & fore & Hifor : 3
3x+4y=13
2x—3y=3
Solve for x and ¥y :
3x+4y=13

2x—3y=3

e Sife HIY h1 &gE x— 1, FEUE & — 8x + 19x — 12 1 VFEVE € A &l | faAWSE Tewiie™ gr 3
AT HIfST |

3 2 . . B
Check whether polynomial x —1, is a factor of the polynomial x —8x + 19x—12. Verify by division
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algorithm.

2x+3y=4; (k+2)x+6y=3k+2

K & foremm & forg fet et fem & o/ ga 27 3

For what value of K, will the following system of equations have infinite solutions ?

2x+3y=4; (k+2)x+6y=3k+2

\/f\ﬂﬁﬁEDHAB AB=10 cm, BC=6 cm, AC=8 cm 3R GE= 3cm%maﬂwﬁﬂsﬁﬁ1ﬁ 3

ST | gEY st % foran g G €2

E
\\\
A G - C
]
R
\ w]
F H

B

In given figure ED|/AB, AB=10 cm, BC=6 cm, AC=8 cm and GE=3 cm. List all similar
triangles. How many pairs of similar triangles are possible ?

E
A G H C
L‘ i ¥
\.\\
S
F H
\\
“w
o
~J
B

18~

CAXMP=PA xBC %I
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AABC and AAMP are two right angled triangles right angled at B and M respectively. Prove
that CA X MP=PA X BC.

P
g ﬂ
pi
Fa s
A B M

(/ G uiHF fag FIRT : sec2d (sec20 —2) +1 = tan4e. 3

Prove the identity : sec29 (sec20 —2) + 1 = tan4.

a8 fag Fifsw fik - 3
(14+tan20).(1—sin0).(1+sin6)=1
Prove that :

(1+tan20).(1—sin0).(1+sinf)=1

k}a/ 7 SReRar el ¥ @ IRARATT (x 1 y) TG KIS, Safen foan 8 fof s o1 Ao 240 @ qen 3
Tt SRR 1 411 100 € : |

o 0-50 | 50- | 100- | 150- | 200- | 250- | 300- | 350- | 400-
100 |150 | 200 |250 |300 |350 |400 |450

EECIEG| 2 5 10 |«x 15 |20 |15 |y 4

Find the missing frequencies (x and y) in the following frequency distribution, when it is
given that median is 240 and sum of all frequencies is 100.
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| Clags 0-50 | 50- | 100- | 150- | 200- | 250- | 300- | 350- | 400-
100 | 150 | 200 |250 {300 |350 |400 |450

Frequency | 2 5 10 x 15 20 15 y 4

Q7 A e T ARAR Sed, U T % e 1X % fqaneal ) o S d 3

A (cm o) 141-145 | 146-150 | 151-155 | 156-160 | 161-165
forenfef=i =t gen | 8 18 20 12 2

HIEA TS 1 iy |

Following frequency distribution gives the heights of students of Class IX in a school :
Height (in cm) 141-145 | 146-150 | 151-155 | 156-160 | 161-165 |
Number of students | 8 18 20 12 2

Find the median height.

Qug-T / SECTION-D
U &A1 21 931 H YF & 4 3F B

Question numbers 21 to 31 carry four marks each.

2 TR Uik HEAT n o oI, 6n i 5 W T &1 kel €7 R i . “

Can the number 61, n being a natural number, end with the digit 5 ? Give reasons.

g T I T ) S 1 55 9T A, o i o IR L s a7 o a4
€1 T fomnedl 7 120 YA & SR TR 90 3k fSia | 3E foras Wi % Tet SR fau?

_—_— : 1 ;
In an examination one mark is awarded for every correct answer and 1 mark is deducted for

every wrong answer. A student answered 120 questions and got 90 marks. How many

questions did he answer correctly ?
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& @a3x4—12x3+10x2+8x—8é5ﬁw\/§ a‘m—\/% g1 3T 9ft Ik |1 i |

Find all other zeroes of the polynomial 3x%—12x3+10x?+8x —38, if two of its zeroes are \/%
and — \/g ;
3

‘(%/ fF U W TF o 9t el qeshTerd w1 U e & fae frea fame € eI sue 9 yow 4
sAfaftaa fod &1 stem fortman &1 991 3 U g off iR 2 35 fad Fifr aul o R 36 J&ih Th
o7 1 30 Q Tt #11 aRaw 3 T T & T 115 G Hifer 98 & i T 4o 11 3R
uig fom o &, g% off Hefud safed gR1 9 wee W e forwmn o) 37 g &t 8 tfaftem uf
A hIfSTT |
91 1 HERR 1 T € 2

A lending library has a fixed charge for one week, and charges fine for keeping the book for
each day thereafter. Vansh had issued a book and paid ¥ 35 as he delayed it by one day due
to rain on that day. Paritosh had issued a book, but paid ¥ 115 for a book as he had forgotten
to return it and delayed it by five days and he returned it after getting a reminder from the
concerned person. Find the fixed charge and the total amount of fine money paid by them.
What behaviour does Vansh show ?

@5 g HRT o &) T el % STl 1 SR TR ST S 3 SR o o & e A 4
7

Prove that the ratio of the areas of two similar triangles is equal to the square of the ratio of
their corresponding sides. :

/ faw T AABC ¥ =t & PQ|BC #iRBC=3 PQ 1 ar(APRQ) 3R ar(ACRB) 1 3TIUM Id SISy, 4
el PC @R BQ, R W Wf=sg &td & |
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In the given figure, AABC, PQ||BC and BC=3 PQ. Find the ratio of the area of PRQ and area
CRB where PC and BQ intersect at R.

ﬁ Wﬁ'&)"m:

tan2 30°. sin 30° + cos 60°. sin2 90°. tan? 60° — 2 tan 45°. cos2 0°. sin 90°
Evaluate :

tan2 30°. sin 30° + cos 60°. sin2 90°. tan2 60° — 2 tan 45°. cos? 0°. sin 90°

, find the value of :

y/ If cosf = i;—i

(;(»f)/ secf. tand
T cosech. cotf

fer et =) fag R

£1+tanA\2 (1—tanA\2 5
| =|———— | =tan‘A
1+cotAJ 1*COtAJ

D BTED >
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Prove the following identity :

2
j = tan?A

(1 + tanA \* _ (]. — tanA
e R I e—

/@Eﬁ@ﬁwwﬁ, 80 Ui W el ol T e goiE T T

. : 100- | 120- | 140- | 160-
40-60 | 60-80 | 80-100 55 =i i 18

TR HE |12 11 14 16 13 9 5

SR el & Tgaish gl HeAH 1 DT |

In an apple orchard, the number of apples on 80 trees are as follows :

Number of 100- 120- 140- 160-
- - -100
apples 4060 | €050 8D 120 140 160 180

Nunber o |4, 11 14 16 13 9 5

trees

Find the mode and median of the above data.

W/

Hh ‘ 0-10 10-20 | 20-30 | 30-40 | 40-50
feenfef=i =i wen 15 25 95 38 17
R T ATEAE o} T HITeTU |

For the following distribution, draw a ‘less than type’ ogive and a ‘more than type’ ogive :

Marks 0-10 10-20 20-30 30-40 40-50

Number of students 15 25 25 38 17

Also, find median from the curves.
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